3 (T

110 22215 48 U5 e b Lo s
. 10°¥ x 107 o 10 . 10°x10° 1 10°
. 106 x 107678 ST T ' 10°
~780 ~245 10% x
. 10 x 10 107 10* 102

AU Mae DU A pdal) UK dae | Aulall YY) Jlaaial ¢ g 220
4.123x10° 2 541x10" = 0.123x10° = 21.4x10° = 34572x10° 3 —4522x10 " :: 0,05x10"
92x107":; 245%x1072 ::-32 x 10 :; 32,65 x 10°::0,75x 107 :;0,75 x 10*
3004x107 ::-425 x 10° 3 0,74 %107 ;36,14 x 10 % ;- 0,0454 x 10°.

b b aail a3 & iy b Jasl 3¢ pall)

1
10=10"; 1L0= 107 ;100 = 10~ ;ﬁ: 103 0,0001 = 10~ ; 100000000000 = 10~
S42x 107 =-42000 ; 235% 10~ =23,5 ; -0,03x 10~ =-0,00003 :

2% 107 =-12 5 10 x2 = 0,000002; 10~ x9,875=9875 : 425 x 10" = 425 :
4325 x 10~ = 0,04325 ;0,0002 x 10~ = 2000000 ;-2300 x 10" = - 0,000 23 .
12345 ........ — 123450 ; -0,8x 10" =-80; 8545 x 10™* = 0,008545 ;
300 000 =3 x 10~ =30 x 10" = 0,3 x 10" = 3000000 x 10" ;
4500 =45 % 107 = 4,5 x 107~ = 0,45 x 10~ = 4 500 000 x 10" :
12,3456 = 1,234 56 x 10 = 123 456 x 10"~ = 123 456 000 x 10"~
2

a) —3,754=-375400x10"" b) 34572><1(2)3: ............ ><5106

¢) 0,0004=4x10 d) 0,57x10 =.......... x10

e) 3x10'=0,03x10" £)=5,21%10 =.......... x10”

AU Alac Y (e dae IS Aualal) UKY das 14 pall)
12,37 ;; —1304000 ;; 13,8><103 5 —54,368 :; 780000 ;; 2008 x 103 ;; 450,12 x 10°! ;; 5005><10_3
3000;; 4,56;; -1950; -70,20;; -504 000 000 ;; - 0,000 012 ;; 5700.

14

D = 0,000 000 037:; E = 58 300 000 000 ;:F =62 x 10 x5x 10 :: G =

15¢x il
A6m = 10°m ol 5 150 Gm = osedil) Ge 22 ¥ G 5 ¢ 3 X 108 m/s (& s swall de s o Lale
02V ) Qeay Sin Guadll (e adldll ¢ gaall L8 jrien ) dia ) Baal) Caald

. Alsall g Al ) i 31 32 1t 5 e shaiall 8laall 1d s de yud) 1y a_Pv=% Ak
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